2x M6 Spring washer

P/N: 09 40 500 9902 01 P/N: 00 00 159 100
01: M6x60-12 Anti-shed Inner Hexagon Screw x2pcs 04: Zylinderschraube IS0 4762-M6x20-A2-70 x2pcs

2x M6 Flat washer

=

P/N: 19 39 006 0406 03 P/N: 19 39 006 0406 02
02: M6 Spring washer a2-70 xkpcs 03: M6 flat washer A2-70 xkpcs

00 00 159 100 Zylinderschraube IS0 4762-M6x20-A2-10
1939 006 0406 02 M6 Flat Washer A2-70

1939 006 0406 03 M6 Spring Washer A2-10

09 40 500 9902 01 M6x60-12 Anti-shed Inner Hexagon Screw

09 40 500 9902 Han HPR-Compact SCL set one extenders
Part number Part Description Quantity

|
D)
N
|

; Created by Inspected by Standardisation Date State
All rights reserved |yqr LUOK ROEBEN

All Dimensions in mm Scale Free size tol. Ref.
Original Size DIN AL 111 Sub.
HARTING

— 2021-11-25 Final Release
epartment £ pp Title Doc-Key / ECM-Nr.

Han HPR-Compact SCL set one extender TG 0
HARTING (Zhuhai) Manufacturing Co., Ltd.

"R [M™09 40 500 9902 “B |




